
F[`mâÑ aÞ]ÔÐ`ÑW hÍwÐaórÞ `eÑlÐ 

H`ÍÞm 4, 2021 

`Í\c `dÔàÐ¯ - NZÞ[ 

jc¯-1O 15cÞ     `ËÀà jÕMÔÐ-100 

`ÍÒ[ÔL Í̀hðe cËmÔ 10 _cée 

1. (L) [ÞÒ_ÐVÞ jÕMÔÐe NÊZ$f 2184 Ð d]Þ ]Þé[Ñ¯ J [ó[Ñ¯ jÕMÔÐe jc½Þ 27 kÊH HaÕ Í̀\c J ]Þé[Ñ¯ jÕMÔÐe NÊZ$f 156 

kÊH, [ÐÒkÒm jÕMÔÐ [ÞÒ_ÐVÞ aÐkÐe Le Ð 

 (M) ]r aNàÐLÐe Òl[Íe Òl[Í$f 256 aNà cÞVe ÒkÒm Ê̂jeÞ[ @Õhe Òl[Í$f aÐkÐe Le Ð 

 

 

 

 

 

 

2. d]Þ 3 LÞ.NÍÐ. AfÊ J 4 LÞ.NÍÐ. VcÐÒVÐe ]Ðc cÞhÞ V58.50 HaÕ 5 LÞ.NÍÐ. AfÊ J 6 LÞ.NÍÐ. VcÐÒVÐe ]Ðc cÞhÞ V89.50 kÊH, 

[ÐÒkÒm 11 LÞ.NÍÐ. AfÊ J 14 LÞ.NÍÐ. VcÐÒVÐe ]Ðc cÞhÞ ÒLÒ[ Òka? 

 

3. ÒLDÜ lÊ]Í[c ]ÊBVÞ jÕMÔÐe jc½Þ, Òj jÕMÔÐ ]ÊBVÞe @«ee 10 NÊZ ? 

 

4. ÒNÐÒV `ÐRÞAÒe \ÞaÐ SÐcÊÒLÐfÞLÊ 15 aÐ 18 LZ `ÞmÐ* bÞ[Òe aÐÃÞÒm jÐÒ[ÐVÞ ÒLÐfÞ afÞ̀ XÞa, @\Q 17 SZ `ÞmÐ* bÞ[Òe 

aÐÃÞÒm LÞRÞ afÞa_Þ Ð [ÐÒkÒm `ÐRÞAÒe @[ÞLcÒe ÒLÒ[ÐVÞ ÒLÐfÞ @RÞ? 

 

5. d]Þ 9VÞ LÍcÞL jÕMÔÐe kÐeÐkÐeÞ 45 kÊH, [ÐÒkÒm ]Þé[Ñ¯, Q[Ê\à, iº J @½c jÕMÔÐe jc½Þ ÒLÒ[? 

 

6. d]Þ ÒNÐÒV ]DXÞe 4/7 @Õh LÐVÞ [Ð jk 5 cÞVe cÞhÐBÒm [ÐkÐ cËf ]EXÞe Ò]ßOàÔ jk jcÐ_ kÊH, [ÐÒkÒm cËf ]EXÞe 

Ò]ßOàÔ ÒLÒ[? 

 

7. SÒZ mÊNÐÒ]ÐLÐ_Ñ ÒNÐÒV hÐYÞÒe 25% eÞkÐ[Þ Ò]mÐ`Òe 30% mÐb LÒm Ð d]Þ Òj 50% eÞkÐ[Þ Ò]B\ÐÒ«, [ÐÒkÒm [Ð*e 

h[LXÐ ÒLÒ[ mÐb aÐ l[Þ ÒkÐB\Ð«Ð? 

 

8. 1, 3, 5, 0, 8, 7 @* NÊXÞLÊ aÔakÐe LeÞ ÒLÒ[ÐVÞ [Þ_Þ-@* aÞiÞ½ jÕMÔÐ NYÞÒka dÐkÐ 6 ]éÐeÐ aÞbÐSÔ? 

 

9. ÒNÐÒV LÊ̈ Òe `ÐZÞ Ë̀ÒeBaÐ `ÐBÜ ]ÊBVÞ _f mÐNÞRÞ Ð Í̀\c _fVÞ 2 OÃÐÒe LÊ̈ e 1/5 @Õh J ]Þé[Ñ¯ _fVÞ 2 OÃÐÒe LÊ̈ e 

1/3 @Õh Ë̀Àà LÒe Ð d]Þ ]ÊBVÞ dÐL _f HLjc¯Òe ÒMÐmÞ]ÞAdÐH [ÐÒkÒm LÊ̈ VÞ @^Ð Ë̀eÞaÐ `ÐBÜ ÒLÒ[ jc¯ mÐNÞa? 

 

10. ÒNÐÒV OXÞ 24 OÃÐÒe 16 cÞ_ÞV ÒmV kÊH Ð Òj OXÞLÊ H`ÍÞm `kÞmÐ ÒbÐe 4VÐÒe (4 AM) WÞL LeÐNmÐ Ð ÒdÒ[ÒaÒf ÒjkÞ 

OXÞÒe H`ÍÞm 4 [ÐeÞM jÕ^ÔÐ 9VÐ (9 PM) ÒkÐB\Þa, ÒjÒ[ÒaÒf Í̀Ló[Òe ÒLÒ[VÐ aÐSÞ\Þa?  
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1. (a) The product of three numbers is 2184. The sum of the second and third numbers is 27, and the 

product of the first and second numbers is 156. Find the three numbers. 

 

 (b) Find the area of the shaded triangle in the given figure if the area of the large square is 256 m2. 

 

 

 

 

 

 

 

 

2. If 3 kg of potatoes and 4 kg of tomatoes cost Rs. 58.50, while 5 kg of potatoes and 6 kg of tomatoes 

cost Rs. 89.50, what would be the cost of 11 kg of potatoes and 14 kg of tomatoes? 

 

3. If the sum of two numbers is 10 times their difference, what are the smallest possible numbers? 

 

4. When a box of chocolates is divided equally among 15 or 18 students, 7 chocolates are left over, 

but when it is divided equally among 17 kids, there are no chocolates left over. Find the smallest 

possible number of chocolates in the box. 

 

5. The average of nine consecutive numbers is 45. Find the sum of the 2nd, 4th, 6th and 8th numbers. 

 

6. If you cut 4/7th of a rope and add 5 meters to it, you get the full length of the rope. What is the 

length of the original rope? 

 

7. A shopkeeper made a 30% profit after giving a 25% discount on the sale-price of a saree. What 

would be his profit or loss in percentage if he gave a 50% discount?  

 

8. How many 3-digit numbers, which are divisible by 6, can be formed from the digits, 1, 3, 5, 0, 8, 

and 7? 

 

9. There are two taps to fill up a tank. The first tap takes 2 hours to fill up one-fifth of the tank while 

the second tap takes 2 hours to fill up one-third of the tank. If both taps are open at the same time, 

how long will it take to fill up half of the tank? 

 

10. A clock loses 16 minutes in 24 hours. This clock is set right at 4 A.M. on April 1st.  What will be the 

correct time when this clock will show 9 PM on April 4th? 
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`ÍÒ[ÔL Í̀hðe cËmÔ 10 _cée 

1. (L) [ÞÒ_ÐVÞ jÕMÔÐe NÊZ$f 2730 Ð d]Þ ]Þé[Ñ¯ J [ó[Ñ¯ jÕMÔÐe jc½Þ 29 kÊH HaÕ Í̀\c J ]Þé[Ñ¯ jÕMÔÐe NÊZ$f 182 

kÊH, [ÐÒkÒm jÕMÔÐ [ÞÒ_ÐVÞ aÐkÐe Le Ð 

 (M) ]r aNàÐLÐe Òl[Íe Òl[Í$f 144 aNà cÞVe ÒkÒm Ê̂jeÞ[ @Õhe Òl[Í$f aÐkÐe Le Ð 

 

 

 

 

 

 

2. d]Þ 5 LÞ.NÍÐ. AfÊ J 3 LÞ.NÍÐ. VcÐÒVÐe ]Ðc cÞhÞ V87.50 HaÕ 7 LÞ.NÍÐ. AfÊ J 5 LÞ.NÍÐ. VcÐÒVÐe ]Ðc cÞhÞ V138.50 kÊH, 

[ÐÒkÒm 17 LÞ.NÍÐ. AfÊ J 11 LÞ.NÍÐ. VcÐÒVÐe ]Ðc cÞhÞ ÒLÒ[ Òka? 

 

3. ÒLDÜ lÊ]Í[c ]ÊBVÞ jÕMÔÐe jc½Þ, Òj jÕMÔÐ ]ÊBVÞe @«ee 12 NÊZ ? 

 

4. ÒNÐÒV `ÐRÞAÒe \ÞaÐ SÐcÊÒLÐfÞLÊ 20 aÐ 24 LZ Þ̀mÐ* bÞ[Òe aÐÃÞÒm jÐÒ[ÐVÞ ÒLÐfÞ afÞ̀ XÞa, @\Q 19 SZ Þ̀mÐ* bÞ[Òe 

aÐÃÞÒm LÞRÞ afÞa_Þ Ð [ÐÒkÒm `ÐRÞAÒe @[ÞLcÒe ÒLÒ[ÐVÞ ÒLÐfÞ @RÞ? 

 

5. d]Þ 9VÞ LÍcÞL jÕMÔÐe kÐeÐkÐeÞ 43 kÊH, [ÐÒkÒm ]Þé[Ñ¯, Q[Ê\à, iº J @½c jÕMÔÐe jc½Þ ÒLÒ[? 

 

6. d]Þ ÒNÐÒV ]DXÞe 3/7 @Õh LÐVÞ [Ð jk 5 cÞVe cÞhÐBÒm [ÐkÐ cËf ]EXÞe Ò]ßOàÔ jk jcÐ_ kÊH, [ÐÒkÒm cËf ]EXÞe 

Ò]ßOàÔ ÒLÒ[? 

 

7. SÒZ mÊNÐÒ]ÐLÐ_Ñ ÒNÐÒV hÐYÞÒe 20% eÞkÐ[Þ Ò]mÐ`Òe 25% mÐb LÒm Ð d]Þ Òj 40% eÞkÐ[Þ Ò]B\ÐÒ«, [ÐÒkÒm [Ð*e 

h[LXÐ ÒLÒ[ mÐb aÐ l[Þ ÒkÐB\Ð«Ð? 

 

8. 1, 2, 4, 5, 6, 8, 0 @* NÊXÞLÊ aÔakÐe LeÞ ÒLÒ[ÐVÞ [Þ_Þ-@* aÞiÞ½ jÕMÔÐ NYÞÒka dÐkÐ 6 ]éÐeÐ aÞbÐSÔ? 

 

9. ÒNÐÒV LÊ̈ Òe `ÐZÞ Ë̀ÒeBaÐ `ÐBÜ ]ÊBVÞ _f mÐNÞRÞ Ð Í̀\c _fVÞ 2 OÃÐÒe LÊ̈ e 1/4 @Õh J ]Þé[Ñ¯ _fVÞ 2 OÃÐÒe LÊ̈ e 

1/5 @Õh Ë̀Àà LÒe Ð d]Þ ]ÊBVÞ dÐL _f HLjc¯Òe ÒMÐmÞ]ÞAdÐH [ÐÒkÒm LÊ̈ VÞ @^Ð Ë̀eÞaÐ `ÐBÜ ÒLÒ[ jc¯ mÐNÞa? 

 

10. ÒNÐÒV OXÞ 24 OÃÐÒe 16 cÞ_ÞV ÒmV kÊH Ð Òj OXÞLÊ H`ÍÞm `kÞmÐ ÒbÐe 4VÐÒe (4 AM) WÞL LeÐNmÐ Ð ÒdÒ[ÒaÒf ÒjkÞ 

OXÞÒe H`ÍÞm 4 [ÐeÞM jÕ^ÔÐ 9VÐ (9 PM) ÒkÐB\Þa, ÒjÒ[ÒaÒf Í̀Ló[Òe ÒLÒ[VÐ aÐSÞ\Þa?  
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